
5

16

35

7

5

35

5

35

5

16
F5

F6

F6

F6

16

7
7

5
5

5

M8 BOLT 53mm (X1)

M6 BOLT 50mm (X8)

M8 BOLT 60mm (X4)

F5

(x4)
(x4)

F5

Nest Swing - BSW07

www.aleko.com



5

16
F5

16

7
7

5
5

5

M8 BOLT 53mm (X1)

M6 BOLT 50mm (X8)

M8 BOLT 60mm (X4)

F5

(x4)
(x4)

F5

Step 1. Insert tapered end of Top Bar 1 into the end of Top Bar 2.  
Make sure there is only 1 set of holes in the end connected to Top 
Bar 1.

Use 1 F2 fastener to connect Top Bar 1 to Top Bar 2

**Always Make sure to place included washers between 
fastener head or nut and adjoining swing components** 

Step 2. Insert 1 Top Leg segment into either side of the T-shaped 
Connector, secure with 2 F3 fasteners per Leg.  Repeat for both 
Connector and Top Leg assemblies.

Step 3. Insert either end of assembled Top Bar into Connecter and 
Leg Assemblies.  Use 2 F5 fasteners on each side to attach.

Step 4. Completely disassemble F1 U-Bolts then place u-shaped 
bolt through the hole in the bearing assembly found at the end of the 
Swing ropes.

Tighten open-ended F1 nut down onto u-shaped bolt, place 1 F1 
washer on each end of the bolt and insert into Top Bar through 2 
sets of vertical holes. Ensure washer placement between nuts and 
Top Bar.  

Place 1 F1 washer on the exposed threaded ends of the F1 bolt, 
then attach F1 cap nuts and tighten down. Repeat for both sets of 
Swing ropes.

Step 5. Insert 1 Bottom Leg into the open end of each of the 4 Top 
Legs. Place a F4 fastener into each of the holes at the junction, 
making sure the exposed threaded end is pointed away from the 
Nest Swing. 

Place Side Stay Bar over the exposed fastener ends so that the flat 
side of the Stay Bar ends is in contact with the Top/Lower Leg 
assembly.

Tighten F4 nut down onto Side Stay Bar.



5

16

35

7

5

35

5

35

F6

F6

F6

Nest Swing - BSW07

Anchoring the Gym to the Ground

Step 1. Attach Ground Pegs to all 4 Nest Swing Bottom Legs using F6 
fasteners.

Step 2. Place assembled Swing Set in desired location and dig a footing 
hole, measuring 12" (30cm) Long  x 12" (30cm) Wide x 20" (50cm) Deep, 
at the base of each support leg.

Step 3. Prepare and pour concrete into the footing holes following 
concrete manufacturer's instructions. Fully fill footing holes to be level 
with ground surface.

Step 4. While Concrete is still wet, angle Ground Pegs toward opposing 
legs at roughly 120-degrees, then insert Ground Pegs into concrete 
footing, making sure Swing set Bottom Legs do not sink below ground 
surface (utilize concrete set time information). Use temporary support 
made from wood or other material if necessary to prevent sinking. 

Swing Set will be ready for use once concrete is fully set and cured 
(consult concrete manufacturer's instructions).

Visit us at www.aleko.com for  Tech Support, Customer Service, 
and more great products for your Home, Garden, Patio and Pets!


	Blank Page
	Step 1.



